Passage —1

(hina's government anppuneed 08 April 18
{4t had signed A |landmark wooprity. pact with

Solomon  Islands, evoking cancern  from
ralin and the 'S, Tha agropment is the first of
= kind that China has ngreed with any conntry,
and underlines its amhitions to play a gecurity Tole
in the Pacific. The final version has not heen mado
public: It will pave the Wiy for Jhina to deploy its
sepurity forces therc- The Solomon Tslands can
pequiest palice and militury personnel “io assist 10
while Chin can make

the

maintnining gocial order’,
ship visita and tse its ports for logistics. This will
give Chind’s vessals n strategic foothold in the
Pacific, in a Tegion Floes bo Austrplia and Guam,
US has a naval base, Both countrics
with

where the

ymsurprisingly expressed cOnCart,
Washingion, &van digpatehing & senior pffirial to

the Solomon Islands, who will take up the pact as

f?:'ni""ﬁ"""" : Jfn B Seclion you fope phirer phorl RISS0
hessed o7 she passage Rend the paesage carefully and arsw

well fF plans to recpen the 1S Embassy there,

The significance of the pact pxtends heyond the
mmediate Tegional security cOnCErns in the Pacific.
The Solomon Islands povernment - said the
agreement does not imply Chine will build 2 base
there. The pact does, however, rolate to & second
key pillar of Ching's avowed =pepcaful rige"
doctring, which was, as popularised by “Panchzhesl”
or the “five principles of peaceful coexistence” — the
wpnn-interferonce” in the internal affairs of other
countries: The deployment of security forces in 8
foreign country eortainly doeg pol SQuUETe with that
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pes. After gpch passuge, Wil ol i

1.

o anme {Bapris
ar phe items bosed on i
China's objoctive of signing 0 gacurlly pact
with Splomon lalunds is

fal to contribite in ensuring apeurity o the
Pacific.

ik} to extend its territory.

(] o deyelop Solomon Talands.

{d} o provide financial wid An anhnncing
sapurity measurcs in the Pasific.

The Pact symbolises Chinna's doctrine ni

(a) advancing fipanenl  support Lo
counbries.

(b}  deployment of security [orcks wherever
needed.

(¢ advancement of defence technology-

(d) principles of peaceful copxistance. +

Which one of the following 18 implied hy
‘Baijing would not seek Lo become a global

hegemon® ?

(p)  Beiing would aspire to become & strong
roleT.

{h) Bueijing 15 ambitions of becoming @
Sy perpower.

(¢} Beijing is oot agpiring to have conirol
over the world.

{d) Beljing will play an jmportant role in
world politics.

idea. China has already begun to do o sleawhere; 4. What does ‘2quare with that ides’ imply in the
albeit on a limited scale. China's past commitments passage ?

gn mihitary bages and non-interference Were {a) Having multiple ideas

intended 10 show the warld BEiji'l:lE would not HEEk:. (h) Mot in agreament with the idea -

to become a global “hegemon”, its favoured term to (¢} Tmposing persorial views on R
describe the US. (dy Agreeing with the multiple views
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= 5. :;::nge s steategic foothald' imply i 1o | 7. What is the third iy,
(W) Valid entry mmu‘"[bﬂmwﬁ‘-ﬁfn‘fﬁm* =
A (b} Flonned peepgs e = TUII'I;E Mn.p::ti:? P b g,
f¢) Legitimate - o

W idl Sanctioned routes revenue-  fom biletet L1 1 the
Pas i agreemante, h“‘-‘i
. . {e)  Poor countries will hay gk
Ju.mng the major nhjﬂntf.'ws. of the Glasgow major responeibiliting: A der the
Summit was to frame the foundation of an (d)  Accounting system
R international carbon trading system listed in the il "L be in the hund,

Paris Agreement to achieve the target of net zero of developed countries,

emissions by 2050 It would enable nations to
transfer credits to each other and offset their | 8.  *.. forests to act as A carbon sink' means
emission targets. Critics of the trading system, and ()
there are many, say it would give leeway to
developed countries and companies that are highly
polluting o stave off making deeper cuts in their
low wmissions by buying credits from poorer e
countries at exploitative prices. There are also id)
miaEjor differences over whether the new trading
system will recognize historical emissions permitted
under earlier protocols. Others want rules that 9. Whﬂtiﬂl'th“ COMEErT ﬂhﬂutlhainmgritg of the
permit double credits for the nation funding o accounting system ?

Forests reduce carbon emission,

(b} Depletion of forest cover ndds
in ciirhgn
Eission.

Forests cannot reduce carhon emiss)

Forests can improve the environmeany

particular carbon reducing  project, such as the {a}«

regeneration of forests to act as a earbon sink, and
for the country implementing it, A third issue is
whather a share of the revenue from such a
hilateral trading agreement will go toward the UN's
Adaptation Fund. There have also been concerns
about the integrity of the accounting system for
such credits.

. What is ‘international carbon trading system’
here?

(a) Counting carbon emissions hy poor
countries

(bi A system of counting carbons every year

(¢}  The exchange of carbon credits between

Developed countries and  companjes
would not be adhering to the credik
gystem. —
(b)  Developed countries and companies
would be adhering to the eredit svstem,
() Poor countries would not be adhering to
the eredit system on carbon emission,
(d)  Poor countries would be adhering o the
credit system on carbon emizsion.

10. Which of the following words is nearer to the

meaning of the word ‘protocol’ in the text 7
(a) final truth
ib} school of thought

nations - . .
formal ways of a0 =
(d) Counting how developed countries t¢) formal ways of doing something
' evade accountability (d) meeting the target of 100%
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The RBI expects inflation at 67 percent in
2p20 — g, Recent government data alao suggesis
that infiation hns become mare  brood-based.
fxcluding the volatile components such as food pnd
fuel, core retail imfTation was around 7 percant in
April with mlmast all subgroups in the index
witnessing elevated inflation. And considering the
inflation in the pipeline — the wholvsale price index
cantinues to be in double digits — price pressures
are unlikely o dissipate in the Immediate term,
According ta analysts, while manufacturing firms

have been passing on the rise in input costs, it
perping moomplate fn thi case of the serviees

soctor, However, ag demond fiems up, the
pass through is likely to gather traction. Thiz
combination of factors suggests that inflation may
nol fall dramatically as and when commodity prices
fall — prices may prove to be a tad sticky on the
downside. The RBI's revised quarterly forecasts for
mnfletion also seem to suggest =0 — inflation has
now been projected at 7-5 percent in the first
quarter, and 74 percent in the second quarter,
trending downwarde thereafter to 62 percent in
the third quartzr, and 5-8 percent in the fourth
QUATTET:

Leplicit in these quarterly inflation forecasts
is also the acknowledgment that inflation will likaly
exceed the upper threshald of the central bank's
anflation targeting framework for three consecutive
quarters.  Considering the rizke thalt the
unanchoring' of inflation and inflation expectations
pase to macrosconomic stability, and the country's
growth prospects, the central bank must look
beyond its quotidian responsibilities and continue to
foews on maintaining price stability, attaching
primacy to inflation matagement,
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13.

14,

16.

Al

ure  the wolatile components of 'I

What
inflation 2

tal  All subgroups in the index

(b} Companents such as food and fuel -
(e} Whelesale price index

id}  Inflation in the pipaline

Why are prices unlikely to nbate in the short

tErm
(@)
i1wl

ficl

f)

e

Because of inflation in the pipeling #
Because prices once up never cmne hick
down

Becmsuse internatinnal price =ituation js
valatile

Because of pressure from subgroups

In what context are the wards ‘pass through'

Lisar]
()

(b}

el

(e}

in the passage ?

That services sector will inerenss prices

as demnnd picks up -

That menufacturing sector is bearing

the burden of input costs

That the economy is passing through
pTiDE pressures

Thot inflation will pass through the
BCTVICES Sedtor

Explain the meaning of the waord ‘quotidian’
as used in the passage.

[&)
ib)
el
(d}

Existing
Frj.lIlH.'l'I" L
Main
Day-to-day

Chﬂﬂ-lilE the most Appropriate option that
fiaamb&a_ the meaning of the term
unanchoring’ as used in the passage,

(a)

(h)
e

(d)

Stability of inflation that will  be
securely anchored

The riging anchor will free inflation

The disjoint between inflation and its
expectations .

Runaway inflation that is out of control



COMPLETION OF SENTENCES
allerrndired, Clamplete Bha '|

Directions : The falfouwfng (tems have pne part of m senience followed by four !
sentance by choosing the corréct st g NG MR TERERR O thie Ay Shot gecardingly.

ot that 1 de oot take a decision, 2i1,  Where there iz o will,
[ decide not Lo taks a decision, v fal thare should ba wiEy.
[ do not decide n decision. -
[ had not taken s decisdon.
| docide T would not howe taken &

dpctaion.

21 ligs
{n)
il
[eh
i e

(b)) hersisaway. =
) there wounld heve heen & WAy,

4]  there may hove beap moway-

g OT¢ iy pelting dark,
muat I turn oo the lights

a%. H.I Were i I'!gl'l:llll.f' rﬂditlnn, [a) ?II
(b)  should I be turning the lights 77

I hud been scoapting this componeation.

ia)
() Twouldnot sccept this comperisation. (¢) may I'be turning on the lights
ey 1 would not have been aceepting this {d) eanlturn on the lights T —
cammpensation.
td) should I not sccept the compensstion. 28, Onee | met o truveller
tn) who said he had been lo &n ancient

plica:
(b} he sald he had been to an angient place.
wha ean be said he had been o an

Having written many povels  and short

atoTies,
she cannat be feeling abput lifa,

sho i5 to feel Lifie too big to undergtand,

Leh

inl
ancient place.

[hi
ie} she should not have being feeling for (d) he said an socient piace had been to
lifi, ' him.
id) she feels life is too vast to underatand.
28. Man is the greatest truth of all,

24, There are many career options, ({a) mothing con be with him
fa) vou can chaose sny of them. - (b} there iz nothing beyond him.
(¢} there cannot be nothing to him.

{h)  you ean choose many of them.
te) youshould chopse none of them. {d) thereis nothing fruth about him.

(d)  you would choose one of them,
80. If your life is circumseribed by habits alone,

25, Il you had prepared well, {n) you were merely an imitating machine.

7: {a) you would huve been fared well. h) .
you are merely an imitati 3
(b)  you will have fared well, A |.|:11.1 ative machine.
(¢}  you must huve to fare well. - (e) youwere merely an imitative machine.
(d) you can be living in an imitative world.

(d}  vouo would have fared well.

FOGT-F-ENG B A)



19.
{al patience -

(b) success
{¢) enigma.
@ eaptivit

BJ deliberation
(b) intersection
|’|:'_| : Lﬁml'
L i ek
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The leader’s endurance paid and he won the eloctions:



